

         Collinear points lie on the same line
The gradient A to B = gradient B to C

1) Are the points D(-3,-4)   E(-1,1)   F(1,5)   collinear?

2) Prove the diagonals of the kite K(-3,4)  L(-2,1)  M(3,1)  N(0,5) intersect at 90°  

3) Prove the midpoint of diagonal KM lies on the diagonal LN
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p139 Ex 16.12


(graphing review)


p142 Ex 16.16






































































































































































































































